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OSC CHSL
* TYPE OF QUESTIONS-

* 1- Finding the Rank of a Person/leh&t sa1=h hi ¥k AT UaT
T

®2- Finding the total number of persons/@ﬁh‘ﬁ Eﬁgﬁf
G&IT &Rl TdT T

*3- Finding the middle number/st=r ATAT WEAT FTA HIAT

®*4- Finding the rank of the person sitting between two

persons/l SHIXRAT oh STl H o6 SATh hT €A JTTA hiAT
*5- Change of rank/dg UEd_




* X is fourth to the left of Y who is 17th from the right end then find what
will be the position of X from the right end?

* X,Y o ST ST § ST 370 SR W1 741 & A1 AT ShITeTC X T 10 DR A TUTT T




®* Anubhayv is 7th to the left of Rohan, who is 31st from the right. What is the
rank (place) of Anubhav from the right?

* AV TE o ATE R 7 F T W &, T I A 31 F €AW W E| T A FATHST
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® Kuldeep is 9th to the right of Shudhanshu who is 16th to the left of
Shashank who is 25th from the right. What is the position of Kuldeep from
the left if the total number is 48?

* FHETEIT IJTLATIT o FTRA 3R 9 TAT U § Y IT9T1eh o &3 3R 16 F TATH WX
S ST A 25 o TAT U §| FHeTe a0 o1 TATT AT & 4T § AfS hed TEAT 48 32
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® In a class Saurav is ranked 274th from the first and 367th from the last.
How many students are there in the class?

* Ueh halT H RS hi Yok Tgeil T 274 31 STRaAT | 3671 21 hear | fohay
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® In a class of n students. Akhil’s rank is 42 from the top. Sahil’s rank is 19
from the bottom. There are 29 students between Akhil and Sahil. Find the
value of n.

* U BTN hl Ueh ShelT W ARG T TATT FUX T 427 2| AT hl Yoh A= O
195t 21 31fRaet 3R A1feet o ofi=r 29 BT 1 N T °H [T HITRT0)
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®* In a row Ajay is 19th from the right and 24th from the left, then what is
the total number?

* T Ufth H 31T Q16 | 19 I 3R a1 & 24 o TIT W g, A1 el H&AT T 82
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® In a row of boys and girls, Ram's position is 26th from the left and
Shyam's position is 18th from the right end, they interchange their
positions. After replacement, the position of Ram from the left hand side is
30 then what is the position of Shyam from the right hand side?

* TSI R ASTHRAT hl Teh Utk W ATE A A ITH T TATT 26 7 IR TATH T
TAT (T BR A 18 B, A 37U TATT h1 TTACATIUT hid 2 | Tfaermiod s o
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® Suresh is 7 ranks ahead of Ashok in the class of 39 students. If Ashok’s
rank is 17th from the last, what is Suresh’s rank from the start?

* 39 foremfeia it HeT W [T, HATTeh | 7 TATT AT g1 AT Ak <hl 1k 3id &
1781 &, T % & [T <h1 ¥k AT 82
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° In a Queue of 50 Student, Rajesh position is 15 from Right side. Find his
position from Left side.

® 50 BTAT hl THAR |, TSI hT et it AR A 15 7| A1 TR T W<kt Fearfa
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®* In a row Tom is 18th from the left and Veer is 16th from the right and
there are S members between Tom and Veer then what is the total no

*THURFHSTH AU H 18 AT TR AR ST A 16 o TATH W g TR H TR ARk
T 5 |EE § A1 SheT HEAT T 82
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® In a row of 29 students, Q is 8th from the left and P is 14th from the right.
Z. is exactly between Q and P. What is the position of Z from the right?

* 29 BENTHTTRHUGREHQ TR ARAS A TAM WS TR P TR A 14 X €A W )
Z, QTP STH AT H 2l Z T A Rl H TATT W F?
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® In a row of 44 students Q is 26th from the right and P is 25th from the left
and Z is exactly between Q and P. What is the position of Z from the left?

Y4B HITHUFHQIT T 26 ATATWE AR P AW H 25T 8 AR Z, Q
T P <k 3ok HeT | 2] ATU | Z hT TATT AT 22
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® In a row of boys, facing north, Atul is sixteenth from the left end and Parul
is sixteenth from the right end. When Vicky is fourth to the right of Atul,
he is fifth to the left of Parul. Then find how many boys are there in the

row?

* TTIZeh! hi Teh UTth H, I hl TG ol W, T 910 BR A ATTgd €A W 7
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